Peunsws - Wehong Lunoan Eqoatans 1 Slope ~Tnferapt Forn,

Wrike Ha eq of Holine 1 Slope — Tudercapt For
Y %&W«g Chmaciwﬁjtbs of #a Lime
1 5\0P2=—I(93b=‘/

® Slope = = 4-wnderapt = 5

N M=-3, passes Hhry (6,-6)

-T(—) bu'ld a dﬁdﬁ) Yo~ docicle 1o rent-a H&Lokqw’l.
The rembal compamy, chouges a Hed Fee of
 Hap.00 € am addideinad 9200 pes houn o remt Hho 1ok
@) Wrile am eguakion o model e totad change y
(e dotlons) W terms of X, Fe nomber of hours
You. vemt Ha Feol. |

 Yow hawe anly budgeled e ot of 366.00
Tor the +oR rembal . o yow rent Hhe foof for
10 hows , do yon hawe emovgh Money 2

v



).An%urex‘s K

D) =-;~

4 lox +4 » Y= Ix+s |
3 4=-3x- | | |

5 X~ b B 4) 3=ax4—ao

so...b For 16 houes , Hham x=10.
‘3=a><+ao o

= 2(16) +30

= &0 +30

=40
20, Ha fotal Chouge kn 10 hows is d46.00.



